

$$y = (a-1)x^2 + x + 13 = 0$$

مشتق نسبت $\rightarrow x=2 \Rightarrow x_s = \frac{-b}{2a} = 2 \rightarrow \frac{-1}{2a-2} = 2 \Rightarrow 2a-2 = -1 \Rightarrow 2a = 1 \Rightarrow a = \frac{1}{2}$

در x ها باید نصف اول مشتق
نقطه می زند؟

$$y = -\frac{1}{2}x^2 + x + 13 = 0$$

$$\rightarrow \frac{-1 \pm \sqrt{1 + 4 \times \frac{1}{2} \times 13}}{2 \times -\frac{1}{2}} = \frac{-1 \pm \sqrt{27}}{-1} = -1 \pm 3\sqrt{3}$$

۱

$$P(x) = mx^2 - dx + m$$

در M

x	x_1	x_2
$P(x)$	-	+

① $M < 0$
در x_1 و x_2 بین مثبت و منفی است

+

در x_1 و x_2 بین مثبت و منفی است

$\Delta > 0$

$$2d - 4mxm > 0$$

$$2d - 4m^2 > 0$$

$$2d > 4m^2 \Rightarrow d > 2m^2$$

$$\textcircled{1} \cap \textcircled{2} \cap \textcircled{3} \Rightarrow \boxed{-\frac{d}{2} < m < \frac{d}{2}}$$

معادله دارای ۲ ریشه است

③

۲

$$\frac{\mu - \sqrt{\Delta}}{\mu}, \frac{\mu + \sqrt{\Delta}}{\mu}$$

$$y = x^2 - 5x + 9$$

$$S = \frac{\mu - \sqrt{\Delta}}{\mu} + \frac{\mu + \sqrt{\Delta}}{\mu} = 2$$

$$P = \left(\frac{\mu - \sqrt{\Delta}}{\mu}\right) \left(\frac{\mu + \sqrt{\Delta}}{\mu}\right) = \frac{9 - \Delta}{9} = \frac{4}{9}$$

$$\Rightarrow y = x^2 - 5x + 9 \xrightarrow{\times 9} 9x^2 - 45x + 81$$

$$9y = 9x^2 - 45x + 81$$

۳

$$y = kx^2 - \lambda x + m + r = 0$$

$$\alpha < \beta$$

$$k\alpha^2 + \beta^2 = 12$$

$$m = ?$$

$$S = \frac{\lambda}{r} = 2 \Rightarrow \alpha + \beta = 2 \Rightarrow \beta = 2 - \alpha$$

$$k\alpha^2 + (2 - \alpha)^2 = 12 \Rightarrow k\alpha^2 + 4 - 4\alpha + \alpha^2 - 12 = 0$$

$$k\alpha^2 - 4\alpha - 8 = 0$$

$$\alpha^2 - 4\alpha + 1 = 0$$

$$(\alpha - 1)^2 = 1 \Rightarrow \alpha = 1$$

$$\text{if } \alpha = 1 \Rightarrow \beta = 2 - 1 = 1$$

$$kx^2 - \lambda x + m + r = 0$$

$$P = \frac{c}{a} = \alpha \cdot \beta \Rightarrow \frac{m+r}{r} = 1 \times 1 \Rightarrow \boxed{m = 4 - r = 4}$$

۴

$$S \begin{cases} x_s = 2 \\ y_s = 9 \end{cases}$$

$$y = ax^2 + bx + c$$

$$x_s = \frac{-b}{2a} = 2 \Rightarrow b = -4a$$

$$c = d$$

$$\rightarrow ax^2 - 4ax + d$$

$$\begin{vmatrix} 2 \\ 9 \end{vmatrix} \rightarrow 4a - 16a + d = 9$$

$$-12a + d = 9$$

$$-12a = 9 - d \Rightarrow a = \frac{d-9}{12}$$

$$y = -\frac{d-9}{12}x^2 + 4\frac{d-9}{12}x + d$$

$$\frac{-1}{12} \frac{d-9}{12} \rightarrow \frac{-d+9}{144} \rightarrow \frac{-d+9}{144} = 0 \Rightarrow d = 9$$

۵

$$\alpha x^r - \nu x + q\beta = 0 \quad \beta > 0 \quad \frac{1}{\alpha} + \frac{1}{\beta} = ?$$

if $x = \alpha \Rightarrow \alpha^r - \nu\alpha + q\beta = 0$

if $x = \beta \Rightarrow \alpha\beta^r - \nu\beta + q\beta = 0 \Rightarrow \alpha\beta^r + r\beta = 0 \Rightarrow \beta(\alpha\beta + r) = 0 \xrightarrow{\beta \neq 0} \alpha\beta = -r$

$p = \frac{c}{a} = \frac{q\beta}{\alpha} = -r \Rightarrow q\beta = -r\alpha \Rightarrow \alpha^r - \nu\alpha + q\beta = 0 \xrightarrow{q\beta = -r\alpha} \alpha^r - \nu\alpha - r\alpha = 0$

$\alpha(\alpha^r - \alpha) = 0 \Rightarrow \alpha = 0 \vee \alpha^r - \alpha = 0$

$\alpha\beta = -r\alpha \xrightarrow{\beta \neq 0} \alpha = -r \quad \alpha\beta = -r\alpha \Rightarrow -r\beta = -r \Rightarrow \beta = 1$

$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{\beta + \alpha}{\alpha\beta} = \frac{r - r}{-r} = \frac{r - r}{-r} = \frac{0}{-r} = 0$

$$x^r + mx - r_m = 0 \quad \alpha^r - m\beta = 1$$

$\alpha^r + m\alpha - r_m = 0$

$\beta^r + m\beta + r_m = 0$

$\alpha^r - \beta^r + m\alpha - m\beta = 0$

$1 - \beta^r + m\alpha = 0 \quad \beta^r - m\alpha = 1$

$\alpha^r - m\beta = 1$

$\alpha^r + \beta^r - m(\alpha + \beta) = 14$

$m^r + r_m + m^r - 14 = 0$

$r_m r + r_m - 14 = 0$

$m^r + r_m - 1 = 0 \Rightarrow m = -r \vee r$

$S = -m$

$P = -r_m$

$S^r - rP - m(S) = 14$

$m = r$

$if m = r \Rightarrow x^r + rx - r = 0$

$\Delta < 0$

$if m = -r \Rightarrow x^r - rx + 1 = 0$

$\Delta < 0$

$f(x) = mx^r + rx + \frac{m}{r} + \nu$

$k = ?$

$f_S = 1$

$x_S = -\frac{r}{r_m} = -\frac{r}{m} \Rightarrow f_S = \frac{m x_S^r}{m r} - \frac{1}{m} + \frac{m}{r} + \nu = 1 \Rightarrow \frac{1 - 14 + m^r + 14m}{r_m} = 1$

$m^r + 14m - 1 = 14m$

$m^r - r_m - 1 = 0 \Rightarrow m = r \vee -r$

$y = -rx^r + rx - 1 + \nu \Rightarrow f(x) = -rx^r + rx + \nu = 0$

$\Delta = 1 - 4r\nu$

$\Delta = 0 \Rightarrow \nu = \frac{1}{4r}$

$k = \nu$

$x_S = r \Rightarrow -\frac{b}{r_0} = r \Rightarrow b = -r_0$

$f_S = 4$

$C = r$

$y = ax^r + bx + c$

$y = ax^r - r_0x + r$

$r_0 - \Lambda_0 + r = 4 \Rightarrow -r_0 = r \Rightarrow a = -\frac{1}{r}$

$y = -\frac{1}{r}x^r + rx + r \Rightarrow \frac{1}{a} + \frac{1}{\beta} = \frac{\beta + \alpha}{\alpha\beta} \Rightarrow \frac{r}{-1} = -\frac{1}{r}$

$x^r - (r_0 + r)x + (r_0 r + 4a + \nu) = 0$

if $x = r \Rightarrow r^r - r(r_0 + r) + r_0 r + 4a + \nu = 0 \Rightarrow r^r - r_0 r - 1 = 0$

$a = 1 \vee a = -\frac{1}{r}$

if $a = 1 \Rightarrow x^r - \Lambda x + r \Rightarrow x = r \vee x = 4 \quad (x-4)(x-r) = x^r - \Lambda x + r$

if $a = -\frac{1}{r} \Rightarrow x^r - \frac{\Lambda}{r}x + \frac{r}{r} = 0 \Rightarrow \Delta = \frac{4^2}{9} - \frac{14}{r} = \frac{14}{9}$

$x = \frac{\frac{\Lambda}{r} \pm \frac{r}{r}}{r} = \frac{r}{r} = 1$